MATHS

BOOKS - MODERN PUBLICATION

UNIT TEST-4

— . .
1. If a Is a unit vcetor and

(? _ 7) - (? n 7) — 80, then find (?\

[ o Watch Video Solution ‘


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_dML3uExHc9kA

2. Find the distance of the points (2,3,4) from

— ~ ~ ~
the plane R - (3z' —6) + 2k) — 11

o Watch Video Solution

3. If

P(A) = 0.6, P(B) = 0.7 and P(A U B) = 0.9

th ﬁdPA dPB
, then fin Ban 1

o Watch Video Solution



https://dl.doubtnut.com/l/_dML3uExHc9kA
https://dl.doubtnut.com/l/_2DxiuSggPxn0
https://dl.doubtnut.com/l/_RhRviAbENRld
https://dl.doubtnut.com/l/_OI4MAWNrrrC4

— o L % ~ 7
4. If a =1+ 5+ k, b =2¢— 37+ 3k and
— 2 ~ A
c =1 — 2j + k, find a unit vector parallel to
%
the vector 2@ — b + 3¢

o Watch Video Solution

— 4 A . 7 4 ~ A

5. let a =1+47+2k, b =31 —25+ Tk
— 4 ~ ~ — .

and ¢ = 2¢ — j + 4k. Find a vector d , which

: : — Y
is perpendicular to both a and b and

%
e .d =18

° Watch Video Solution



https://dl.doubtnut.com/l/_OI4MAWNrrrC4
https://dl.doubtnut.com/l/_aiKZRDxVjXV2

6. Find the equation of the perpendicular

drawn from the point P(2,4,-1) to the line :

:1;+5_y-|—3_z—6 Al to d
T 1 T g so write down

the co ordinates of the foot of the

perpendicualr from P to the line.

o Watch Video Solution

7. Find the distance of the point (1,-2,3) from

the plane £ — y + 2z = 5 measured parallel to

: L Yy z
the line = = £ — =2
e line


https://dl.doubtnut.com/l/_aiKZRDxVjXV2
https://dl.doubtnut.com/l/_ufGbVgwfopE2
https://dl.doubtnut.com/l/_izKeEuNkwF55

° Watch Video Solution

8. Minimise Z = 3z + 2y subject to the
constraints:

x+y>83x+5<15x>0,y>0

° Watch Video Solution

9. The probabilities of two students A and B

3 5
coming to the school in time are z and —

7

respectively. Assuming that the events, ‘A


https://dl.doubtnut.com/l/_izKeEuNkwF55
https://dl.doubtnut.com/l/_dmkHeWd3Giuu
https://dl.doubtnut.com/l/_osXD2RNa5U2O

coming in time' and 'B coming in time' are
independent, find the probability of only one
of them coming to the school in time. Write at
least one advantage of coming to school in

time.

° Watch Video Solution

10. The sum of the mean and variance of a

Binomial distribution of 6 trials is 3 find the

Binomial distribution.

° Watch Video Solution



https://dl.doubtnut.com/l/_osXD2RNa5U2O
https://dl.doubtnut.com/l/_yUh86SAMkWE5

11. From the point P(1,2,4), a perpendicular is
drawn on the plane 2z +y—22+3 = 0.
Find the equations, the length and co-

ordinates of the foot of the perpendicular.

o Watch Video Solution

12. Show that the lines

x + 3 y—1 z—5 J
— — n
—3 1 5 :
:1:+1_y—2_z—5 | A
_1 = 2 = 5 are COpanar. SO



https://dl.doubtnut.com/l/_yUh86SAMkWE5
https://dl.doubtnut.com/l/_6B6ignR5a4e8
https://dl.doubtnut.com/l/_wJxKhO5a6yWA

find the equation of the plane containing the

lines.

o Watch Video Solution

13. In answering a question in a multiple

choice test a student either knows the answer
3 .

or guesses. Let 1 be the probability that he

knows the answer and 1 be the probability

that he guesses. Assuming that a student who

guesses at the answer will be correct with

1
probability 1 What is the probability that a


https://dl.doubtnut.com/l/_wJxKhO5a6yWA
https://dl.doubtnut.com/l/_hcwLi9FTEc5H

student knows the answer, given that he

answered it correctly ?

° Watch Video Solution



https://dl.doubtnut.com/l/_hcwLi9FTEc5H

